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2 0 | AH FER 43 40 83 14.0 69.0 BHY
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14 A7 | JRE PN 46 46 92 16.0 76.0
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43 L | Ak BB 51 51 102 18.0 84.0

44 A7 | ER) EH 45 50 95 10.0 85.0

45 I | R BL3% 50 49 99 14.0 85.0

46 A | PHEF ZRih 46 51 97 11.0 86. 0

47 ff | 1 52 46 98 12.0 86.0

0 0

48 L | @ T|/IE 50 48 98 12. 86.




HBIFOD A

BRfER A . A0 B4 6250 (H) B N Y — R
BEHE . N T B eI 55 (BPE 52« Zctk: 3A)
HDCP_LFR -
a— R ouT IN 2/ 2
FNEALIRE © e 2 UNEWIIE) -« Ff (RE WIIE) FRl . 4%n 54 6H25H (H)
JIEAE. ZINE 4 oUT IN GROSS | HDCP NET %

49 I | Tk FER 48 51 99 13.0 86.0

50 I\ | AAF — 57 46 103 17.0 86.0

51 17 | 77k 15— 50 47 97 10.0 87.0

52 i | f=H ik 49 55 104 16.0 88.0

53 . |fErE —BA 54 52 106 17.0 89.0

54 fir | =% EAT 52 50 102 11.0 91.0

55 ir | KRR 60 47 107 12.0 95. 0




